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Tiieneff FEuem 31U TPH-UT W AHh AHaE: o]

Candidate must write first his / her Roll No. on the question paper
compulsorily.

|t o9 7w afE

All the questions are compulsory.

Tk U9 T ST & T I-YEaeht | & fora|

Write the answer to each question in the given answer-book only.

o ugt < =afies @uE §, 37 At & S uw Ty & o)

For questions having more than one part, the answers to those parts are to
be written together in continuity.

Ug-UA o FEl 9 SIS TR | fohelt TR i Jie / ofae / foenym g W &=t |
% TE R /@ T

If there is any error / difference / contradiction in Hindi & English versions
of the question paper, the question of Hindi version should be treated
valid.

U9 ATk 21 | 23 | Srdfter farereq 2

There are internal choice in Q. No. 21 to 23.
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«ug - A

SECTION - A

FgfereRedt T
1) FugEi & S & 9@ ke 99 o STyl § feiau -
Multiple Choice Question -

Write the correct option of answers of the following questions in the answer

book-
i) afg % HqE FW AT FAA T I - [1]
(1) fesitferm (3) wEerRERE
(®) ufsufies s (@) wEew
Example of hormone which inhibits growth is -
(A) Gibberelin (B) Cytokinin
(C) Abscisic acid (D) Insulin
ii) witres w1 S qm IRR R Gl wd dqem ¥ e swerh 32 [1]
(31) TwtEasH (F) owmtETsh
(|) ITuTEash () wemfETSh
Which part of brain is responsible for maintaining the posture and balance
of body?
(A) Cerebrum (B) Fore - brain
(C) Cerebellum (D) Mid-brain
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iii) RrYy St S 1 amer S grm - [1]

(31) e, &

(3) Fiaw, den

(|) e, diem

(@) Fiaw, &

External feature of genotype RrYy will be-
(A) Round, Green

(B) Wrinkled, Yellow

(C©) Round, Yellow

(D) Wrinkled, Green

iv) S % Jefteutia Ha &t 39w R [1]
(31) 9a st
(@) g
() e
(7) wHS
Example of renewable source of energy is
(A) Wind energy
(B) Petrol
(C) Coal

(D) Wood
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V) USRAM H e TUET i YOI HehedHT § — [1]
(31) @t (@) @fE
(@) SUrE () FeT
The old concept of water harvesting in Rajasthan is -
(A) Khadin (B) Bundhis
(C) Bandharas (D) Kulh
vi) feuwm fom A, sion (x) =t A= e [1]
stftrera
JTafaa ToRtoT qEfa foor
30°| x

LELELPLTTELALLELLLE LT

(3) 60° (= 90°
(®) 45° (?) 30°

In the given figure, the value of angle (x) will be :

Normal

Incident ray Reflected ray
30°| x

KBLTEA A e TA L L L A
(A) 60° (B) 90°

(C) 45° (D) 30°
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vii) ufteient & ufvmar FEfta et ) [1]
(31) kT AT (/) == &= it weRE gl
(|) Yael i MR (A15) (3) Toreecha oim &t smrfa
The muscles of the iris controls
(A) Optic nerves (B) Focal length of the eye lens
(C) Size of pupil (D) Shape of crystalline lens
viii) kwh fera sifaer afor = wEes 22 [1]
(31) wifem (@) forga st
(®|) Gem (3 ==
Which physical quantity has kwh as its unit?
(A) power (B) electric energy
(C) momentum (D) force
ix) 3tm o fFom @ watta fou mu foega ufo @ gl (y) =t ugent=| [1]
T = P
|1 h
v + N
& S
y
+ —_
(31) eeetiiet (@) S
(\) e ea (8) omii
Identify the device (y) in the given electric circuit related to ohm's law
T = P
|1 h
v + N
€ S
y
+ —_
(A) voltmeter (B) key
(C) electriccell (D) ammeter

S N™ Chntnas nn | 1203 | I Thavemr £ Nv7 00



6

X) dTATeRUT § =it % FHU el WA TeA ol Ufshan g - [1]
(31) srowEA (31) wemo
(|) Ferpeiteran () foferenmm
The process of black coating on silver in environment is -
(A) Reduction (B) Corrosion
(C) Rancidity (D) Double displacement
xi) Al, Fe @en Zn &t arfufsharsiicrar o1 W&t agar v & — [1]
(31) Fe<Zn< Al (@) Fe<Al<Zn
(®m) Al<Fe<Zn (3) Al<Zn<Fe
The correct ascending order of reactivity of Al, Fe and Zn is -
(A) Fe<Zn< Al (B) Fe<Al<Zn
(C) Al<Fe<Zn (D) Al<Zn < Fe

xii) CH,COOH+CH,-CH,0H —=_. [A] + H,O Iwirera arfuferan & =iifites [A] 2 -
[1]
(1) CH,—CH,-O-CH _-CH,
(@) CH,—-CH,-COOCH,
(@) H—?—O—CHz—CHZ—CH3
O
() CH,-C-O-CH,-CH,
O
CH,COOH+CH,-CH,OH 244 [A] + H,O Compound [A] in above
reaction is -
(A) CH,-CH,—-O-CH,-CH,
(B) CH,-CH_ —-COOCH,
©) H—fIZ—O—CHz—CHZ—CH3
O
(D) CH3—EI—O—CH2—CH3

O
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2)

e Tt <Y gf iR —

Fill in the blank places -

i)

ii)

iii)

iv)

Vi)

TRAM TR gm e A AT ... Hgd 2l [1]

The saliva contains an enzyme called salivary

IR TaLH 1 oW I ¢ Toh 30 TR U |t Gig Haiveh &9 o 6 W &

........... B & [1]
Advantage of vegetative propagation is that all plants produced by this are
genetically to the parent plant.

Tl S Sifereh TsRH gRT ATERd B S &, Covveeeennnnns ’ ShgeATd 2l [1]

Substances that are decomposed by biological processes are called

Gah o T gl § T ... a2l [1]
Like poles of magnet with each other.
ferent ® Sufeora ot ot TR AW L H| [1]

Chemical name of acid present in vinegar is
3NYfh ATAd TRUN R e H IufErd dedl hl JE&A ... 2l [1]

Number of elements present in third period of modern periodic table are
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3) stfocTgTRIcHs U9 (I S TR Uk Vs A U Ufer § feifam))

Very short answer type question (Answer the question in one word or in one
line.)

i) gEe & foren @t e franfafar Fata ot 27 [1]

Which mechanism regulates the action of a hormone?

ii) =gEs Tehid #A e Tk St @t AW ferle [1]

Write name of an organism that exhibits multiple fission.

iii) SiraTeHt Sem o ITERT W I ATl Uk g feilem) [1]

Write one disadvantage of using fossil fuels.

iv) UiRas & TaHceh i Ueh 34101 dIfeTu| [1]

Give one example of abiotic component of ecosystem.

v) @ 9ifw abm P =50 mw@ Q = 8 x 10 Q X m o <Teiehl hl olrarg 3Mel A
W P a Q % @ um feiRau) [1]

Write the corresponding values of two physical quantities P and Q for
which the length of conductor P = 5Q and Q = 8 x 10 Q x m are reduced
to half.

vi) @ R & WETU Tk — g i Ufdesg Fl el et ? [1]

Why two magnetic field lines do not intersect to each other?
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vii) TereR forga amremgl ufeTiorent < it T 3ok TR Jaehia &1 {13l i TgRid T
ISIAPEREIHY [1]

Draw diagram to show lines of magnetic field inside and around a current

carrying solenoid.

viii) SerdieR stftrfsren @ aftenfua i) [1]

Define neutralisation reaction.

ix) eyl smad fem fafan [1]

Write modern periodic law.

x) CuO+H, ™ ,Cu+ HO
IUR ATUTHIT § STU=Id 84 9t iR st I feilRau) [1]
CuO + H, __fer Cu+ HO

Write the name of reactant reduced in above reaction.

Xi) STENEH, FN qen Gifzsm U | =8 weR uared w1 am fekau) [1]

Write name of hardest substance among iodine, diamond and sodium.

xii) HieA H erarg fog v w8 fafa R [1]

Draw electron dot structure of methane.
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g - 9

SECTION -B

FYSWIAS TA-T9 TG 04 | 16 & IW Iwygferem # ffag | (vrsg dimn 50 wreg)

Short answer type question-Write the answers of question number 04 to 16 in
answer book (Word limit 50 words)

4)

5)

6)

7)

8)

9)

A9 TehH Rl URWIRE i) [2]

Define life processes.

TehfeiTl gou shi URWTNG HIRTT q1 39 &1 IETET foTRau| [1+V52+Y2=2]

Define unisexual flower and write two examples of it.

SRl T TRETHUT S U 1 AHiIRa fost sATgu) [2]

Draw a labelled diagram of the germination of pollengrains on the stigma.

gTeruT < fafir g2t & i St & TaTg Sl 9HEE| [2]

Explain the flow of energy between various components of the environment.

i) o % SEYA &I uRwT i)
ii) ST o UTE-gvd qUUT o T H T Meitd qUur o A ferRem)

[1+1=2]
1)  Define magnification of lens.

i1)  Write name of spherical mirror used as rear-view mirror in vehicles.

i) foem faverw & afam i
ii) It o oA fem w snenia foRedl 3t g o AW feiRam

[1+1=2]
1)  Define electric potential difference.

i1) Write names of any two devices based on Joule's law of heating.
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11)

12)

13)

14)

15)

16)

11
uft T | S A SfARIEeht o TN % T3 ol S379a Shifeu| [2]

Derive the formula for the combination of three resistors connected in series.

e forea uRudi | dmra: T Tifes (Sushiu) i TuT (UTve) 99 3 ot Sied 2 ?

[2]
Why are the household electric circuits, the electric appliances (instruments)
connected in parallel combination?

i) ol ot amgEa (It ) Fam feRaRn
ii) o g SRon it ufenfva fikm)

[1+1=2]
i)  Write Fleming's left-hand rule.
i1) Define electromagnetic induction.
wiA e feare st aftarfea i) [1+1=2]

Define roasting and calcination.

Fraferfia il 3 wer TSTer Bt T SN % e e fafen -
[1+1=2]

i) Na

ii) 443K dmumE ® |@ig H SO,

Write the balanced equations of chemical reactions of ethanol with following

reagents -

1) Na

i) Concentrated H SO, at 443K temperature

T <t fade wre @ fafa Al [2]

Draw the micelle structure of soap.

FeigH & TS THgla ol auesy| [2]

Explain Newland's law of octaves.
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«us - |

SECTION - C
@ IS TH-T TS 17 | 20 & IW Iy # ol | (s dm 100 wsg)

Long answer type question-Write the answers of question number 17 to 20 in
answer book (Word limit 100 words)

17) 3SR | Fferd g k1 AW a2 &t i feilkau) [14+2=3]

Write the name and two functions of the hormone secreted by ovaries.

18) THSTA Ud FHEY 3N Sl gRATvd hifv@| [1V2+1V2=3]

Define homologous and analogous organs.

19) i) R feufeura o= wdiia 2 @ 2 TwEa|
i) T % Hehd (Fower) <t T o =1 3 22

[2+1=3]
1)  Why do stars seem to twinkle? Explain.
i1) Why are the danger signals red in colour?
20) fFrafeiRea & A T% T Uk 30T I THSST — [1V2+1V2=3]
i) wEeE stufe
i) T srfnfran

Explain the following by giving one example of each -
1)  Combination reaction

i1) Decomposition reaction
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e - T

SECTION -D

fFeraore av-avR T 21 @ 23 & I sy | e (wisg dimr 250 wisg)

Essay type question-Write the answers of question number 21 to 23 in answer
book (Word limit 250 words)

21) i)
ii)

iii)

ii)

iii)

ii)

i)

ii)

iii)

TS YTER i URHTNG HifTU|
HHE Y6 9 o AI—HFT i THET|
S 98 1 oh1 AR o= SA130)
[1+2+1=4]
Define aerobic respiration.
Explain air - passage of human respiratory system.
Draw a labelled diagram of human respiratory system.
3tEn/OR
UTeH <t aReTE i)
HISH o T H ST T i HHeR i AHeST|
UM & U a1 (ITERATA) Y SEAT St AMifehd o 9180)
[1+2+1=4]
Define digestion.
Explain role of pancreatic juice in the digestion of food.

Draw a labelled diagram of the structure of human alimentary canal.
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22) i)

ii)

23) 1)

ii)

14

Teh TG qUuT A Ufdfera st 571 29T o1 fervur e smea Srafer uer o Swek wieka
(F) W feera

Afe Tk et quur skl B 14 cm 3 @ 38Rt wiskd gt 7ia i)
[2+2=4]

Draw ray diagram for image formation by concave mirror when the object
is placed at its focus (F).

If the radius of curvature of a spherical mirror is 14 cm then find its focal
length.

grgat/OR

Teh It o8 @ ufafra o6t s goiia ot foreor fort ammgd, waifes fava F| qen 2F, wex
feora A

Afe Tk " i gwal + 2.5 D 2, @ 36eh Wihd gl 7 i
[2+2=4]

Draw ray diagram for image formation by convex lens when the object is
placed between F and 2F,.

If the power of a lens is + 2.5 D, then find its focal length.

TEfa ek 1 IS Tk 3gTe ferrau|

T o U § HIEHSIZATFETEE 19 i TaifEd e W IiRes [A] & vad—3Taed 590 8,
T2 zaw srcaferes UEN H SheSEaeTse 1 o Taifza feran Sime ot us Siet | faeiamfiet
uered [B] sAan 2 | [A] 9 [B] o temates g3 qen fFfga vemafes siftrfranait & afieo
fefem)

[1+3=4]
Write any one example of olfactory indicator.

White precipitate of compound [A] is formed on passing carbondioxide
gas in lime water, if excess quantity of the carbondioxide is passed in it
then a water soluble compound [B] is formed. Write chemical formulae of
[A] & [B] and equations of chemical reactions involved.
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grgat/OR

i) 3¢ 9 &1 pH we feRa)

ii) Wfam FEAHS & T FSSIFANE 30 i Affhn | =qifew [A] sHa1 2 | [A] =
TR 9 oft Hgd B | [A] & el faerem § foega venfea i W difsam gegiase
A1 ? | [A] o1 vErEtes Am qen fAfga veates sitwfsransti o arfieson feau)

[1+3=4]
1)  Write pH value of pure water.

i1) Compound [A] is formed by the reaction of sodium carbonate with
hydrochloric acid. [A] is also called as common salt. Sodiumhydroxide is
formed on passing electricity in aqueous solution of [A]. Write chemical
name of [A] and equations of Chemical reactions involved.

3636 38
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